Warmup  03.26.2018

A 2.05 X 103 kg car, m, has a speed, v,, of 12.0 m/s. The car then hltS a
tree. The tree doesn't move, and the car comes to rest.

a. Find the change in kinetic energy of the car.
b. Find the amount of work done
c. Find the size of the force that pushed in the front of the car by 50 cm.

Before
(initial) After
(final)




| ‘ !

= 1.85K10°%
¥ = tamid
Ve -0 nis
A = soem

by W=7

@) F'.:.?

E——

_Lm-Urzo
Keg - Lmvp=0f
AYE = - KEe

A

\AKE\ ‘KEL" M-V

IakEl = = 1.2, oSXWzK%
2

Q_m@ g = hF6oo)

b) W = AKE -600')

| W = F-d

F= 995200N )

e




